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F = 130. N

d = 5.00 m

µk = .300

fk = µkN = µkmg

m = 40.0 kg

 

WF =
!
F
!
d cos0o

     = 130. N( ) 5.00 m( )
     = 650. J

 

Wf =
!
f
!
d cos180o

     = µkmg( ) d( ) !1( )
     = ! .300( ) 40.0 kg( ) 9.80 m/s2( )"# $% 5.00 m( )
     = !588 J       ( &  energy increase to surrounding area = 588 J)
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F = 130. N

d = 5.00 m

µk = .300

m = 40.0 kg

 

WN =
!
N
!
d cos90o

     = 0
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F = 130. N

d = 5.00 m

µk = .300

m = 40.0 kg

Wnet = WF + Wf = !KE
   "    !KE = 650. J( ) + #588 .J( )
                    = 62.0 J
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KE1! + U1! +   Wext!   = KE2! + U2!
     0     +    0   + WF + Wf( ) =  1
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2 WF + Wf( )
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            "      v2 =
2 650. J( ) + )588 J( )( )
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                          = 1.76 m/s

F = 130. N

d = 5.00 m

µk = .300

m = 40.0 kg
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